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Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

2019(Odd) 
1615503NT5018

Time : 4Hrs. Sem - V/Civil.  
Est. & Cost.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

What are the main points to be considered 

while preparing detail estimate:

(a) Availability of materials

(b) Quality of materials

(c) Carriage facilities

(d) All of above

In wooden works, the measurements of 

chaukhat is in cubic meter, then the 

measurement of shutter is in:

(a) Square meter

(b) Meter

(c) Cubic meter

(d) None of these

NT5018231615503 NT5018

Estimate the brick work in super structure of a 
given building in figure 01.

11.

Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

Fig - 01
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Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

(iii)

(iii)

(iv)

(ii)

in ..........
(a) Per unit length
(b) Square meter
(c) Cubic meter
(d) Per 1000 kg

earth should be generally .......
(a) 10 to 20 cm
(b) 20 to 50 cm
(c) 50 to 75 cm
(d) 80 to 100 cm

1615503
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OR

Estimate the brick work in foundation and plinth 
of a given building in figure 01.

Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

Fig - 01

4 1615503

(iv)

(v)

(v)

(vi)

As per I.S. 1200 the correct measurement 

should be taken up to

(a) 0.01 m

(b) 0.01 cm

(c) 0.01 mm

(d) 0.1 mm

I.S. 1200 

be considered as ...........

(a) 10%

(b)  5%

(c)  3%

(d) 1.5%

NT5018
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Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

5

(vii)

(vii)

(viii)

(vi)

The capacity of 8 ton truck for carrying 

number of bricks is .........

(a) 3000

(b) 2500

(c) 2000

(d) 1800

Generally one bag of cement in India weights

(a) 30 kg

(b) 50 kg

(c) 40 kg

(d) 60 kg

1615503
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Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

Fig - 01
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(viii)

(ix)

(ix)

(a) 25 mm

(b) Twice the diameter of the main bar

(c) Which ever is greater in 'a' and 'b'

(d) None of these

steel reinforcement to bars is ........

Where d = diameter of bar

(a) 4.5 d

(b) 9 d

(c) 12 d

(d) 18 d

(x)

NT5018

P.T.O



181615503 NT5018

OR

Calculate the quantity of earth for a portion of road 

on a uniform ground with the following data by any

 two methods.

Assume that there is no longitudinal slope.

Length of road = 200 m ; height of bank at one 

end = 2 m, height of bank at other end = 3 m ; 

Formation width = 10 m,  side slope in filling 2 : 1 

( H : V)

Estimate the earth work in excavation in foundation 

trench of given building in fig - 01

10.

6

7

The expected out turn of cement concrete 
(1 : 2 : 4) per mason per day is

3
(a) 2.0 m

3
(b) 2.5 m

3
(c) 3.5 m

3
(d) 5.0 m

The carpet area of the building excludes the 
following :
(a) Verandah
(b) Store
(c) Garage
(d)  All of the above

(xi)

(xi)

(x)

1615503
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Estimate the quantity of earth work in a tabular 

form for a portion of a road from the following data

Formation width of road = 9.0 m ; 

Side slope  =            ( H : V ) in banking and 1 : 1

in cutting. The distance between station is 50 m.

R.L. of formation of  (o) station = 103.50 uniform 

up gradient 1 in 200

            ( H : V )

9.

6

1 1
2
-:1

1 1
2
-:1

8 1615503

3
10m of 1 : 2 : 4 concrete is

3
(a) 2.0 m

3
(b) 2.3 m

3
(c) 2.2 m

3
(d) 2.4 m

Actual size of modular brick is

(a) 15 cm ´ 10cm ´  9 cm

(b) 19 cm ´ 9 cm ´ 9 cm

(c) 20 cm ´ 10 cm ´ 9 cm
(d) None of these

(xiv)

(xii)

(xiii)

(xiii)

NT5018

Station0 1 2 3 4 5 6 7 

102.35101.80102.05102.50103.15103.45103.00103.85
R.L of
G.L

Station0 1 2 3 4 5 6 7 

102.35101.80102.05102.50103.15103.45103.00103.85
R.L of
G.L
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2
of white washing of 100 m  plaster is-

(a) 10 kg
(b) 15 kg
(c) 20 kg
(d) 25 kg

is in
(a) Volume
(b) Weight
(c) Both 'a' & 'b'
(d) None of above

(xiv)

(xv)

(xv)

1615503

(xvi)

P.T.O

NT5018NT5018161615503

What are the borrow pits. Explain with sketches.

mortar (1 : 4) in foundation. Assume suitable rates.

Assume suitable rates.

OR

OR

8.

6
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                 GROUP  - C

7.

6

6 x 5 = 30
Answer all Five Questions.

1615503 NT5018

estimating work of a residential building ?

OR

What are the different types of estimate? Describe 

one of them in detail.

10 1615503

..............SNG (binding wire) annealed with 
gauge of
(a) 20
(b) 16
(c) 25
(d) 12

detailed estimated cost is :
(a) 35%
(b) 25%
(c) 15%
(d) 10%

(xvii)

(xvii)

(xviii)

(xvi)

NT5018

Assume missing data suitably.
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OR

6.

4

4

5.

NT5018

What do you mean by lead & lift in earth work ? 

Explain.

Explain one of them.

What provisions are made for sanitation works, 

water supply and electrification works.

Draw a cross sectional view of a Railway 

embankment showing all details.

OR

11

as percentage of total cost of building is .......
(a) 5%
(b) 10%
(c) 25%
(d) 40%

work is .............
(a) 10%
(b) 8%
(c) 5%
(d) 3%

1615503

(xviii)

(xix)

(xx)

(xix)
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(xx)

Answer all Five Questions.
4 x 5 = 20

2.

4

What is the aim of estimating in civil engineering 

works?

NT501813

3.

OR

4

1615503

4

4.

P.T.O
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OR

What is plinth area estimate ? Explain.

sheet ? Draw the format of both.

Write the purpose of rate analysis.

Differentiate between carpet area and plinth area ?
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OR

Estimate the interior plaster work in cement mortar 
1 : 5 of a given building in figure 01.

Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

Fig - 01

251615503 NT5018

OR

Estimate the interior plaster work in cement mortar 
1 : 5 of a given building in figure 01.

Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

Fig - 01
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***

Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.

26 1615503NT5018

***

Earthwork : Foundation trenches shoould be dug upto the depth as shown in drawing.
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